Q.1

Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER-1I EXAMINATION — Summer- 2019

Subject Code: 3320003 Date: 07-06-2019
Subject Name: ADVANCED MATHEMATICS(GROUP-2)
Time: 02:30 PM to 05:00 PM Total Marks: 70

Instructions
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
7.Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

Fill in the blanks using appropriate choice from the given options.
QoY [Asey it 53 viel] sxouL YU
1 is the midpoint of the line segment AB joining points A(3,7) and B(1,3)
a. (4,10) b. (3,7) c.(5,2) d. (2,5)
1 [6igaill A(3,7) v B(1,3) < oxlsdl 2uivis AB o Healolg, €.
2. (4,10) . (3,7) 5.(5,2) 8. (2,5)
2 The slope of the straight line 5x-y+3=0is .......
a5 b. -5 c. L d. -1
_ _ %\ 5 5
2 YL 5X-y+3=0 -l el €9.
».5 8. -5 gé 3 — %
3 The distance between the points (0,-3) and (4,0) is .......
a. 3 b. 4 c. 0 d.5
3 [oig2l (0,-3) viel (4,0) 423 < id2 €.
u. 3 o, 4 5.0 &5
4 The centre of the circle x? + y? —4x+7 =0 is........
a.(—2,0) b. (2,0) c. (—4,0) d. (0,4)
¥ Adnx? +y? —4x+7 =05 £,
2.(—-2,0) . (2,0) 5. (—4,0) 8. (0,4)
5 Iff(x)=e*—1thenf(0)=____
a. -1 b. 0 c. el d. 1-e
U ool fx) =e*—1¢ladl f(0)=__
u, -1 . 0 5. e-1 8. 1-e
6 lim(sec’x—tan’x) =
x—0
a. -1 b.0 c. 1 d.5
¢ lim(sec’x—tan’x) =
x—0
v, -1 o, 0 5.1 &5

7 4 —
™~ (tanx) = _
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a.secx b. secxtanx C. sec’x d. —sec?x

d . B
dx( anx) =
¥, secx o, sec x tan x 5. sec’x & —sec’x
- -1 -1\ —
T (tan™" x + cot™" x)
a. 0 b. 1 c.-1 d. none of these
- -1 -1, —
= (tan™" x + cot™" x) \
2. 0 o. 1 5. -1 3. vis upL Adl.
2
J.x dx =
-2
2 2
2
fx dx =
-2
2. 4 0. 0 5. % . _%
If f(x) =logx then f'(1) =
a.log1 b. 0 c.1l d. -1
oA f(x) = logxsladl f'(1) =
¥, log 1 o, 0 5.1 -1
[(cos?x + sin?x) dx = +C
a. x b. sin®x + cos3x  c. 2sinx d. 2cosx
[(cos?x + sin?x) dx = +c
., x o, sin3x + cos3x 5. 2sinx &. 2C0SX
_ .2 a?y _
Ify =x*+2then = =
a. 2x b¥*3 c.2 d. 4
" ) Sy 0 4y
ly = x°+2614dl ..~ B
W, 2x o, 3 5. 2 3.4
The mean of the numbers 39,23,58,47,50,16 and 61 is
a. 27 b. 42 c. 47 d. 50
v 21 39,23,58,47,50,16,61 Al HEUS 8.
W, 27 o, 42 5. 47 3. 50
is mode of the observations 2,8,5,15,9,3,8,5,3,8.
a. 3 b.5 c. 8 d. 2
2adisdl 2,8,5,15,9,3,8,5,3, 8-l otgds 2
., 3 .5 5.8 3.2
Attempt any two S15U0L 6 il s¥alet Bil. 06

Show that points (0, —4), (2,2) and (—4, —16) are collinear.

oldldl 5 [6ig2il (0, —4), (2,2) vt (—4, —16) AHUL 9.
If the radius of the circle x? + y? — 4x + 6y + k = 0 is 4 unit then find value of k

oA AN x% + Y2 —4x + 6y + k = 0 <l Bowtl 4 2isH Gl dl K <l (14 2.

Find the equation of straight line passing through the points (1,3) and (0,7)

(Big2l (1,3) 2 (0,7) wigdl utiz 2l v o 4+lsze wiHl.

Attempt any two SIHURL 6L <AL e¥alet BUl. 08
1 1

If f(x) = = then prove that f(x) + f (;) =1
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o f(x) =$@,\Hrﬁm@td%2\l§ f(x)+f(%) =1

. 3_3x2+5x-6

Evaluate : lim =——"—
x-2 x°—8

T . x3-3x2+5x—6

BHd gl © lim ===
x—2 x°>—8

. in 7x—sin 3

Evaluate : lim "

x—0 sinx
~es . 1. sin7x—sin3
(Eud glid) ; Jjm SR7x-sinsx
x—0 sinx

Attempt any two SI5URL 6 <Al oYaLet Bl

2 ) d
If y=2<= thenfind == .
X“+1 dx
x2-1 ~ ~ d;lf ~eSN
oy == Sld dl — AL
+1 dx
Find £ if y=x*

oty = x% bl 2 4L

If y = log(sin 2x) then find %

o4l y = log(sin 2x) €14 dl % AL

Attempt any two SI5URL & <l 6¥aLet HUl.

Using Definition of differentiation differentiate +/x with respect to x

-

[Asaq <l cnvadl Heesll v o x <l e [Aslad aisl
2
If y=ae* +be ** provethat %2 = k2y

dx?
oAy = ae’* + be™** i dl Uiloid 53 5 Z% = k%y
The equation of motion of a particleis s=t*+ 3t, t> 0. Find,
(1) Velocity and acceleration when t = 4 sec.
(2) When velocity and acceleration will be equal?
25 sl ould o Al s = 134 3¢, £> 0 9. (1) t =4 A58 W12 A3 il UA3L AL
(2) 0L el UAIL SAIR AUVAL AL, ?

Attempt any two SI5URL & Ul salet HUl.
Evaluate: [(4x3 — i + sinx — e*) dx

(B iifll: [ (4> — = + sinx — e*) dx
sin(logx)
— dx

(SHa 2is: [ Sm(lxﬂ dx

Evaluate : [ x e* dx
(54d 2ldl: [ x e* dx
Attempt any two SI5UL 6 il Yot Bl

X

Evaluate : fmdx

NN x
[\%Hd CITESTE fm X

Evaluate : [

7 smE
Evaluate : /2 72 dx
‘ - m 3sinx
(5 <llAl: /2 Venr s Voo

Find the area bounded by the lines y = x,x = 0,x = 3 and X — axis.
WBL Yy = x,x = 0,x = 324X — axis 4l dA4l U 4 &g ML
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Attempt any two SI5URL 6 <l 6ot Bl

Evaluate : lirré orx—3
xX—

Eud il : lim 223
x—0 X

Find the equation of tangent and normal to the circle x? + y?> —4x + 2y + 3 =0

at the point (1,2)

U490 x2 + y? — 4x + 2y + 3 = 0 <L (65 (1,2) 2031011 2udls i vi[Meiotdi »Hlsz0

AL,

Show that straight lines 4x — 3y + 7 = 0 and 3x + 4y + 2 = 0 are mutually

perpendicular.

ALl s YL 4x — 3y + 7 = 0 ¥ 3x + 4y + 2 = 0 URUR ol 89,

Attempt any two SI5URL 6 <l s¥aLet HUl.
Find the median from the following data :

Class 10-20 | 20-30 | 30-40 |40-50 |50-60 |60-70 | 70-80
Frequency 3 5 9 16 8 6 3
<il2Adl MLl el Herzey gl
99 10-20 | 20-30 30-40 40-50 50-60 60-70 70-80
%{Lfi[?i 3 5 9 16 8 6 3
Find the mode of the following frequency distribution :
Class 0-10 |10-20 |20-30 |30-40 |40-50 |50-60 |60-70
Frequency 4 8 11 13 10 8 3
<{laal 2ua[d-(Ad20 4L sigas wHl
il 0-10 10-20 20-30 30-40 40-50 50-60 60-70
%{Lgﬁi 4 8 11 13 10 8 3

Find the standard deviation from the given data :
12,16,19,20,23,25,28,30,32,35

244 HUldl Hiz uHilBid [Qaadd Al : 12,16,19,20,23,25,28,30,32,35

3k 3k 3k 3k 3k 3k sk %k %k ok sk %k ok k ok kosk sk k
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